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BMD-032 : INTRODUCTION TO 
DEAF BLINDNESS 

Time : 3 hours 	 Maximum Marks : 60 

Note : (i) All questions are compulsory. 
(ii) Marks are allotted against the questions. 

1. 	Give full forms of the following : 
(a) I.Q. 
(b) I.E.P. 
(c) D.L.S. 
(d) R.P. 
(e) 0 and M 

lx5=5 

2. 	Write the answer in one or two sentences. Each 
carries 2 marks. 	 2x5=10 

(a) What do you mean by metarnal eclampsia ? 
(b) Who is the father of Audiology ? 
(c) What is the organ of Corty ? 
(d) What is the use of Pinna/Auricle in hearing 

process ? 
(e) Write the name of three bones presented in 

the middle ear. 
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3. 	Attempt any five. Each carries five marks. 	5x5=25 
(a) Describe the anatomy of eye (with diagram) 

(b) What is Task Analysis ? 

(c) Differentiate between Congenital 
Deafblindness and Acquired Deafblindness. 

(d) Mention the causes for Hearing impairment. 

(e) What is the difference between Impairment, 
Disability and Handicapped. 

(f) Write the causes of Sensory Neural Hearing 
Loss. 

	

4. 	Write answer in detail. Each question carries 
10 marks. 	 2x10=20 

(a) Describe the different areas in which a child 
with Deafblindness might require support 
for optimal development. 

(b) What kind of intervention will you provide 
to a child who is blind since birth and is 
starting to loose hearing at the age of 10 yrs. 

(c) What are the causes for Hearing Impairment ? 
What are the 'at risk behaviour a child with 
H.I. shows ? 
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1. 	tgo 	TET 7W1 4rnt I 	 lx5=5 
(a) I.Q. 
(b) I.E.P. 
(c) D.L.S. 
(d) R.P. 
(e) 0 and M 
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